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funsZ’k % & 1. ijh{kkFkhZ vius vuqØekad] fo”k; ,oa Á’uiqfLrdk dh lhjht dk fooj.k ;FkkLFkku lgh& lgh Hkjsa] 

vU;Fkk ewY;akdu esa fdlh Hkh Ádkj dh folaxfr dh n’kk esa mldh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA 
 2. bl Á’uiqfLrdk esa 100 Á’u gSa] ftues ls dsoy 75 Á’uksa ds mRrj ijh{kkfFkZ;ksa }kjk fn;s tkus gSA 

ÁR;sd Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj 

lgh gSA ftl mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. 

ANSWER SHEET) esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA 

;fn fdlh ijh{kkFkhZ }kjk fdlh iz’u dk ,d ls vf/kd mŸkj fn;k tkrk gS] rks mls xyr mŸkj ekuk 

tk;sxkA 

 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s 

tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus 

gSaA mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 
x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh vksŒ,eŒvkjŒ ‘khV miyC/k djkus ds ckn 
gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 
egRoiw.kZ % &  Á’uiqfLrdk [kksyus ij ÁFker% tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh ì”B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh lhjht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 

Paper Code 
2 5 2 
(To be filled in the  

OMR Sheet) 

Á’uiqfLrdk Øekad 
Question Booklet No. 

Á’uiqfLrdk lhjht 
Question Booklet Series 

C 
O.M.R. Serial No.         

 

tc rd dgk u tk;] bl Á’uiqfLrdk dks u [kksysa 

K
-2

52
 



Series-C B.Sc.– B020201T/ K-252 Page - 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Series-C B.Sc.– B020201T/ K-252 Page - 3 

1. Teflon is prepared by the 
polymerisation of:  
(A)   Butadiene  
(B) Vinyl chloride  
(C) Vinyl cyanide  
(D) Tetrafluoro ethylene  

 1. Vs¶ykWu fuEu ds cgqyhdj.k ls çkIr gksrk gS%  
(A) C;wVkMkbu 
(B) osfuy DyksjkbM 
(C) osfuy lkbukbM 
(D) VªsVk¶yksjks bFkkbfyu 

2. Naphthol-S, is a example of:  
(A)   Azo dyes 
(B) Nitro dyes 
(C) Tri aryl methane dyes 
(D) Indio dyes  

 2. us¶FkkWy&S mnkgj.k gS% 
(A) ,stks jatd dk  
(B) ukbVªks jatd dk  
(C) VªkbZ ,fjy esFksu jatd dk  
(D) bUMks jatd dk  

3. Aldose related to: 
(A)   Monosaccharide 
(B) Disaccharide  
(C) Trisaccharide  
(D) All  

 3. ,YMkst lEcfU/kr gS% 
(A) eksukslSdsjkbM 
(B) MkblSdsjkbM 
(C) VªkblSdsjkbM 
(D) lHkh 

4. Main source of starch is: 
(A)   Onion 
(B) Radish 
(C) Rice 
(D) None 

 4. LVkpZ dk eq[; L=ksr gS% 
(A) I;kt 
(B) ewyh 
(C) pkoy 
(D) dksbZ ugh 

5. Melting point of Glucose is:  
(A)   140°C 
(B) 146°C 
(C) 139°C 
(D) 144°C 

 5. Xywdkst dk xyukad gksrk gS%  
(A) 140°C 
(B) 146°C 
(C) 139°C 
(D) 144°C 

6. The glucose and fructose is 
difference due to: 
(A)   Group 
(B) Sub group  
(C) Both 
(D) None 

 6. Xywdkst o ÝDVkst esa vUrj Li”V djrk gS%  

(A) lewg 

(B) milewg 

(C) nksuksa 

(D) dksbZ ugh 
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7. Nylon-6 is used in: 

(A)   Synthetic Films  

(B) Synthetic Fibres  

(C) Clothes  

(D) None of the above  

 7. uk;ykWu&6 dk ç;ksx fd;k tkrk gS%  

(A) la’ysf”kr fQYeksa 

(B) la’ysf”kr rUrqvksa 

(C) diM+s 

(D) dksbZ Hkh ugh 

8. Which of the following fibers are 
made of polyamides? 
(A)   Dacron  
(B) Orlon 
(C) Nylon 
(D) Rayon 

 8. fuEu esa ls dkSulk Qkbcj ikWyh,ekbM dk 

cuk gksrk gS\ 

(A) MSØkWu 

(B) vkjykWu 

(C) uk;ykWu 

(D) js;ku 

9. Indigo is related to: 
(A)   Mordant dyes 
(B) Direct dyes 
(C) Ingrain dyes  
(D) Vat dyes 

 9. bafMxks lECkfU/kr gS%  

(A) jax cU/kd jatd ls  

(B) çR;{k jatd ls  
(C) vUrtZfur jatd ls  

(D) oSV jatd ls 

10. Phenolphthalein is prepared by 
phthalic anhydride and________ 

(A)   Benzoic acid  
(B) Benzene  
(C) Phenol 
(D) ܥଶܪସ 

 10. fQuksy¶Fksyhu curk gS FkSfyd ,UgkbMªsM 

rFkk________ 

(A) csUtksbd vEy 

(B) csUthu 

(C) fQukWy 

(D) ܥଶܪସ 
11. The weak acid solution of crystal 

violet is:  
(A)   Yellow 
(B) Violet 
(C) Green 
(D) Red 

 11. fØLVy okW;ysV dk nqcZy vEyh; foy;u 

gksrk gS% 

(A) ihyk  

(B) okW;ysV  

(C) gjk  

(D) yky  
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12. Phenolphthalein is a dye of: 

(A)   Phthalein dyes  

(B) Xanthene dyes 

(C) Anthraquinone dyes  

(D) Indigoid dyes 

 12. fQuksy¶Fksyhu fdl çdkj dk jatd gS% 

(A) FkSyhu jatd 

(B) tsUFkhu jatd 

(C) ,UFkzkfDouksu jatd 

(D) bfUMxksbM jatd 

13. Congo red is an example of: 
(A)   Phthalein dyes 
(B) Indigo dyes 
(C) Anthraquinone dyes 
(D) Azo dyes  

 13. dksUxks jsM mnkgj.k gS% 

(A) FkSfyu jatd  

(B) bfUMxksbd jatd 

(C) ,UFkzkfDouksu jatd 

(D) ,tks jatd 

14. Alizarin dyes is an example of:  
(A)   Vat dyes  
(B) Ingrain dyes 
(C) Mordant dyes  
(D) None of the above  

 14. ,fytkfju jatd mnkgj.k gS% 

(A) oSV jatd 

(B) vUrtZfur jatd  

(C) jax cU/kd jatd 

(D) dksbZ Hkh ugh 

15. Which colour is given by methyl 
orange in acidic medium?  
(A)   Red 
(B) Blue 
(C) Yellow  
(D) Orange 

 15. esfFky vkjsUt vEyh; ek/;e esa dkSu lk jax 

nsrk gS\ 

(A) yky 

(B) uhyk 

(C) ihyk 

(D) ukajxh 

16. Methyl orange is an example of:  

(A)   Azo dyes  

(B) Indigo dyes  

(C) Phthalein dyes  

(D) Anthraquinone dyes  

 16. esfFky vkjsUt mnkgj.k gS% 

(A) ,tksjatd 

(B) bfUMxksbd jatd 

(C) FkSfyu jatd  

(D) ,UFkzkfDoukssu jatd 
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17. Which colour isgiven by 

phenolphthalene in basic medium? 

(A)  Pink  

(B) Blue  

(C) Yellow  

(D) Colourless  

 17. fQuksy¶Fksyhu {kkjh; ek/;e esa dkSu&lk jax 

nsrk gS\ 

(A) xqykch 

(B) uhyk  

(C) ihyk 

(D) jaxghu 

18. Which one of the following is 

acidic auxochrome: 

(A)   −ܰܪଶ 

(B) −ܴܰܪ 

(C) −ܴܰଶ 

(D) −ܱܵଷܪ 

 18. fuEu esa ls vEyh; vkWDtksØkse gS%  

(A) −ܰܪଶ 

(B) −ܴܰܪ 

(C) −ܴܰଶ 

(D) −ܱܵଷܪ 

19. Which of the following is 

auxochrome: 

(A)  −ܱܰଶ 

(B) −ܱܪ 

(C) −ܰ = ܰ − 

(D) −ܰ = ܱ 

 19. fuEu esa ls vkDtksØkWe gS%  

(A) −ܱܰଶ 

(B) −ܱܪ 

(C) −ܰ = ܰ − 

(D) −ܰ = ܱ 

20. Which of the following is 

chromophore: 

(A)   −ܱܰଶ 

(B) −ܱܵଷܪ 

(C) −ܱܪ 

(D) −ܪܱܱܥ 

 20. fuEu esa ls ØkseksQksj gS%  

(A) −ܱܰଶ 

(B) −ܱܵଷܪ 

(C) −ܱܪ 

(D) −ܪܱܱܥ 



Series-C B.Sc.– B020201T/ K-252 Page - 7 

21. HଶNCONHଶ + ܱܪܥܪ
  ௡௢௥௠௔௟    
ሱ⎯⎯⎯⎯⎯⎯ሮ
௧௘௠௣

? 

(A)   HଶN CONHCHଶCOOH 

(B) HଶN CONHCHଶCHO 

(C) HଶN CONHCHଶ OH 

(D) HଶN CONHଶ 

 21. 
HଶNCONHଶ + ܱܪܥܪ

lk/kkj.k
ሱ⎯⎯⎯⎯ሮ

rki
  \ 

(A)   HଶN CONHCHଶCOOH 

(B) HଶN CONHCHଶCHO 

(C) HଶN CONHCHଶ OH 

(D) HଶN CONHଶ 

22. In Buna-S rubber, the ratio of 
butadiene and styrene is about:  
(A)   1 : 2  
(B) 2 : 1 
(C) 3 : 1 
(D) 1 : 4  

 22. C;wuk&S jcj eas] C;wVkMkbu RkFkk LVkbjhu 
dk vuqikr gS%  
(A) 1 : 2 
(B) 2 : 1 
(C) 3 : 1 
(D) 1 : 4 

23. Which of the following Fibers are 
made of polyamide? 
(A)   Dacron  
(B) Orlon  
(C) Nylon  
(D) Rayon  

 23. fuEu esa ls dkSulk Qkbcj ikWyh,ekbM dk 
cuk gS\ 
(A) MSØkWu 
(B) vksjYkkWu 
(C) ukbyksu 
(D) js;kWu 

24. Which of the following is not an 
example of addition: 
(A)   Polystyrene  
(B) Polyethylene  
(C) Terylene  
(D) None  

 24. fuEu esa ;ksxkRed cgqyd dk mnkgj.k ugh 
gS%  
(A) ikWYkhLVkbjhu 
(B) ikWYkhbFkkfyu 
(C) VSjhyhu 
(D) dksbZ ugh 

25. Example of condensation or step 
growth polymerisation is:  
(A)   Dacron 
(B) Nylon-6 
(C) Bakelite  
(D) All  

 25. la?kuu ;k in&òf) cgqyd dk mnkgj.k gS%  

(A) MSØkWu 

(B) ukbyksu&6 

(C) cSdsykbV 

(D) lHkh 
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26. Dacron is: 

(A)   Polyesters  

(B) Polyamide  

(C) Polyurethanes  

(D) All  

 26. MSØkWu gS%  

(A) ikWYkh,LVj 

(B) ikWYkh ,ekbM 

(C) ikWYkh ;wjsFksu 

(D) lHkh  

27. The example of polyesters are:  

(A)   Terylene  

(B) Bakelite  

(C) Nylon-6 

(D) None  

 27. ikWyh,LVj dk çeq[k mnkgj.k gS% 

(A) Vsfjyhu  

(B) cSdsykbV 

(C) ukbyksu&6 

(D) dksbZ ugh  

28. Polyvniylidene chloride is used in:  

(A)   Clothes  

(B) Rubber Tube  

(C) Both (A) & (B)  

(D) None  

 28. ikWyh osfuyhMhu DyksjkbM dk mi;ksx gksrk 

gS%  

(A) diM+s  

(B) jcj V~;wc 

(C) (A) o(B) nksuksa 

(D) dksbZ ugh 

29. Silicones are used in: 
(A)   Computer chips  
(B) Transistor and Solar panels  
(C) Water proof cloth and paper  
(D) All of above  

 29. flfydu dk mi;ksx djrs gS%  

(A) dEI;wVj fpi esa   

(B) VªkaftLVj RkFkk lksyj iSuy esa  

(C) ty izfrjks/kh diM+k rFkk isij esa  

(D) lHkh eas 

30. Nature of Phosphonitrilic chloride 
is:  
(A)   Basic  
(B) Acidic  
(C) Neutral  
(D) None  

 30. QkLQksukbfVªfyd DyksjkbM dh çÑfr gS%  

(A) {kkjh;  

(B) vEyh;  

(C) mnklhu 

(D) dksbZ ugh 
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31. Which of following polymers 

contain Nitrogen: 

(A)   PVC  

(B) Teflon 

(C) Nylon  

(D) Terylene  

 31. dkSu ls cgqyd esa ukbVªkstu mifLFkr gS% 

(A) PVC 

(B) Vs¶ykWu 

(C) uk;ykWu 

(D) Vsjhyhu 

32. Starch is the example of: 

(A)   Linear chain polymer  

(B) Branched chain polymer  

(C) Cross linked polymer  

(D) None of the above  

 32. LVkpZ mnkgj.k gS%  

(A) jS[kh; J̀[kayk cgqyd  

(B) ‘kkf[kr J̀[kayk cgqyd 

(C) ØkWl fyad cgqyd  

(D) dksbZ Hkh ugh 

33. Polystyrene is the example of: 

(A)   Thermosetting polymer   

(B) Fiber 

(C) Thermoplastics polymer  

(D) None  

 33. ikWyhLVkW;jhu mnkgj.k gS%  

(A) FkekZslsfVax cgqyd 

(B) Qkbcj  

(C) FkekZsIykfLVd cgqyd  

(D) dksbZ ugh 

34. Inorganic fluid is:  

(A)   Phosphonitrilic chloride  

(B) Silicone resins  

(C) Silicone fluid  

(D) Silicone grease  

 34. vkdkcZfud nzo gS%  

(A) QkLQksukbfVªfyd DyksjkbM 

(B) flfydu jsthu 

(C) flfydu rjy  

(D) flfydu xzhl 

35. Phosphum is:  

(A)   ܰ ଷ ଷ݈ܲܥଷ 

(B) ଺ܰ ଷ݈ܲܥଷ 

(C) ଷܰ ଷܲ(ܰܪ)ଷ 

(D) ଷܰ ଷܲ(ܰܪ)ସ 

 35. QklQke gS%  

(A) ଷܰ ଷ݈ܲܥଷ 

(B) ଺ܰ ଷ݈ܲܥଷ 

(C) ଷܰ ଷܲ(ܰܪ)ଷ 

(D) ଷܰ ଷܲ(ܰܪ)ସ 
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36. Which of the following is used to 

seal joints in jet air craft: 

(A)   Silicone resin   

(B) Silicone fluid  

(C) Silicone grease  

(D) Silicone rubber 

 36. fuEu eas ls tsV ,vj Øk¶V dh lhy dks 

tksMus dk dke djrk gS%  

(A) flfydu jsthu   

(B) flfydu rjy  

(C) flfydu xzhl  

(D) flfydu jcj  

37. Maximum melting point is:  

(A)   (݈ܲܰܥଶ)ଶ 

(B) (݈ܲܰܥଶ)ଷ 

(C) (݈ܲܰܥଶ)ସ 

(D) (݈ܲܰܥଶ)ହ 

 37. fuEu esa ls fdldk xyukad lcls vf/kd 

gksrk gS% 

(A) (݈ܲܰܥଶ)ଶ 

(B) (݈ܲܰܥଶ)ଷ 

(C) (݈ܲܰܥଶ)ସ 

(D) (݈ܲܰܥଶ)ହ 

38. Hydrogen bonding occur in 
polymer:  
(A)   Dacron  
(B) Nylon 6,6  
(C) Polyethylene  
(D) Teflon  

 38. fuEu cgqyd esa gkbMªkstu cU/k gS%  
(A) MsdjkWu  
(B) uk;ykWu 6]6 
(C) ikWyhbFkkbyhu  
(D) Vs¶ykWu 

39. Silicones are the polymer of:  

(A)   Si, C, N 

(B) Si, C, O  

(C) Si, B, O  

(D) Si, N, O  

 39. flfydu cgqyd gS%  

(A) Si, C, N 

(B) Si, C, O 

(C) Si, B, O  

(D) Si, N, O 

40. An example of fiber polymer is:  

(A)   Buna-5 

(B) Nylon-6,6 

(C) Bakelite 

(D) Polyethylene 

 40. js’ksnkj cgqyd dk mnkgj.k gS%  

(A) C;wukW&5 

(B) ukW;yku 6]6 

(C) CkSdsykbV 

(D) ikWYkhbFkkbyhu  
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41. The monomer of natural rubber is:  

(A)   Chloroprene  

(B) Isoprene  

(C) Styrene  

(D) Ethylene  

 41. çkÑfrd jcj dk ,dyd gS%  

(A) Dyksjksfçu 

(B) vkblksfçu  

(C) LVkbjhu 

(D) bFkkbyhu  

42. Polyethylene polymer is:  

(A)   Homopolymers  

(B) Copolymers  

(C) Both (A) & (B)  

(D) None of the above  

 42. ikWyhFkhu cgqyd gS%  

(A) lecgqyd  

(B) lgcgqyd 

(C) nksuksa (A) rFkk(B)  

(D) dksbZ Hkh ugha 

43. Bakelite is the condensation 

polymer of:  

(A)   HCHO and phthalic acid 

(B) ܥ଺ܪହܱܪ and HCHO  

(C) HCHO and ethylene glycol  

(D) ܥ଺ܪହܱܪand ܪܥଷܱܪ 

 43. la?kuu cgqydhdj.k }kjk cSdsykbV çkIRk 

djrs gSa%  

(A) HCHOrFkk FkSfyd vEy  

(B) ܥ଺ܪହܱܪrFkkHCHO 

(C) HCHOrFkk bFkkbfyuXykbdkWYk 

(D) ܥ଺ܪହܱܪrFkkܪܥଷܱܪ 

44. Which is the synthetic polymer:  

(A)   Starch  

(B) Cellulose  

(C) Protein  

(D) Bakelite  

 44. fuEu eas ls la’ysf”kd cgqyd gS%  

(A) LVkpZ  

(B) lsY;qykst  

(C) çksVhu  

(D) cSdsykbV  

45. The monomer unit of PVC is:  

(A)   Vinyl chloride  

(B) Ethylene  

(C) Nylon 6,6  

(D) None of the above  

 45. PVC dk ,d&cgqyd gS% 

(A) foukby DyksjkbM 

(B) bFkkbfyu  

(C) uk;ykWu 6]6 

(D) dksbZ Hkh ugh 
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46. Which of the following is naturally 

occurring polymer: 

(A)   Nylon  

(B) Polyethylene  

(C) Starch  

(D) Teflon  

 46. fuEu eas ls çkÑfrd cgqyd gS%  

(A) uk;ykWu  

(B) ikWyh,sfFkyhu  

(C) LVkpZ  

(D) Vs¶ykWu 

47. AIDS full form is: 
(A)   Acquired Immuno Deficiency 

Syndrome  
(B) Human Immuno Deficiency 

Virus  
(C) Anti-Inflammatory Agents  
(D) None of the above  

 47. ,M~l dk iwjk uke%  

(A) ,Dok;MZ bE;wuks MsfQfl,a’kh flMªkse  

(B) º;weu bE;wuks MsfQfl,a’kh ok;jl  

(C) ,UVh QykeasVjh ,tasV  

(D) dksbZ Hkh ugh 

48. Which is an alkaloids:  
(A)   Nicotine  
(B) Piperdine  
(C) Camphor  
(D) None of the above  

 48. fuEu eas ls dkSu&ls ,YdksykWbM gS%  

(A) fudksfVu  

(B) fiijhMhu  

(C) diwj  

(D) dksbZ Hkh ugh 

49. For a triclinic, which is a correct 
condition: 
(A)   ܽ ≠ ܾ = ܿ 
(B) ܽ = ܾ = ܿ 
(C) ߙ ≠ ߚ ≠ ߛ = 90 
(D) ܽ = ܾ ≠ ܿ 

 49. f=urk{k fØLVy ds fy, lgh gS%  

(A) ܽ ≠ ܾ = ܿ 
(B) ܽ = ܾ = ܿ 
(C) ߙ ≠ ߚ ≠ ߛ = 90 
(D) ܽ = ܾ ≠ ܿ 

50. For a orthorhombic crystal which 
is correct condition:  
(A)   ܽ = ܾ = ܿ 
(B) ܽ ≠ ܾ = ܿ 
(C) ܽ ≠ ܾ ≠ ܿ 
(D) ߙ = ߚ ≠ ߛ = 90 

 50. fo”keyEck{k fØLVYk ds fy, Bhd gS%  

(A) ܽ = ܾ = ܿ 
(B) ܽ ≠ ܾ = ܿ 
(C) ܽ ≠ ܾ ≠ ܿ 
(D) ߙ = ߚ ≠ ߛ = 90 
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51. For a cubic system which is 
correct condition: 
(A)   ܽ ≠ ܾ = ܿ 
(B) ܽ ≠ ܾ ≠ ܿ 
(C) ܽ = ܾ = ܿ 
(D) ߙ = ߚ ≠ ߛ = 90 

 51. ?kuh; fØLVy fudk; ds fy, lgh gS% 

(A) ܽ ≠ ܾ = ܿ 
(B) ܽ ≠ ܾ ≠ ܿ 
(C) ܽ = ܾ = ܿ 
(D) ߙ = ߚ ≠ ߛ = 90 

52. Law of symmetry is: 
(A)   Plane of symmetry  
(B) Axis of symmetry 
(C) Centre of symmetry 
(D) All of above  

 52. lefefr fu;e gS%  
(A) lefefr ry  
(B) lefefr v{k  
(C) lefefr dsUnz 
(D) mi;ZqDr lHkh  

53. NaCl,KCl and CsCl are the 
examples of:  
(A)   Orthorhombic crystal system  
(B) Cubic crystal system  
(C) Triclinic system  
(D) Tetragonal crystal system  

 53. NaCl,KClrFkkCsCl mnkgj.k gS%  
(A) fo”keyEck{k fØLVy fudk;  
(B) /kuh; fØLVy fudk; 
(C) f=urk{k fudk;  
(D) f}leyEck{k fØLVy fudk;  

54. Crystalline substance possess:  
(A)   Sharp melting point  
(B) Arranged in a regular manner  
(C) Definite geometric pattern  
(D) All of the above  

 54. fØLVyh; inkFkksZa esa gksrk gS%  
(A) rh{.k xyukad  
(B) fuf’pr Øfed foU;kl  
(C) fuf’pr T;kferh  
(D) lHkh 

55. Amorphous solids is considered 
as: 
(A)   True solids  
(B) True liquids  
(C) Pure gas  
(D) Liquids  

 55. vfØLVyh; Bksl ekuk tkrk gS%  
(A) okLRkfod Bksl  
(B) okLrfod nzo  
(C) ‘kq) xSl  
(D) nzo 

56. An amorphous sold is:  
(A)   KCl  
(B) Sugars  
(C) Sulphur  
(D) Rubber  

 56. vfØLVyh; Bksl gS%  
(A) KCl 
(B) ‘kdZjk  
(C) lYQj 
(D) jcj  
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57. A crystalline substance is: 
(A)   Rubber  
(B) NaCl  
(C) Plastic  
(D) Glass  

 57. fØLVyh; inkFkZ gS%  
(A) jcj  
(B) NaCl 
(C) IykfLVd  
(D) Xykl  

58. Bragg’s equation for crystal 
structure determination is:  
(A)   ߣ = sin  ߠ
(B) ߣ = 2 sin  ߠ
(C) ߣ = sin  ߠ2
(D) ߣ = ଵ

ଶ
sin  ߠ

 58. fØLVy ljapuk ds fy, czSx lehdj.k gS%  
(A) ߣ = sin  ߠ
(B) ߣ = 2 sin  ߠ
(C) ߣ = sin  ߠ2

(D) ߣ = ଵ
ଶ

sin  ߠ

59. The coordination number of 
ܰܽାin ܰܽାି݈ܥ is: 
(A)   2 
(B) 6 
(C) 4 
(D) 8 

 59. ܰܽାି݈ܥds fØLVy esa ܰܽା vk;u dh 
milagl;kstd la[;k gS%  
(A) 2 
(B) 6 
(C) 4 
(D) 8 

60. The coordination number of ି݈ܥin 
ܰܽାି݈ܥ is: 
(A)   2 
(B) 4 
(C) 8 
(D) 6 

 60. ܰܽାି݈ܥds fØLVy esa ି݈ܥ vk;u dh 
milagl;kstu la[;k gS%  
(A) 2 
(B) 4 
(C) 8 
(D) 6 

61. The Pain reliever is: 
(A)   Phenol  
(B) Sodium Benzoate  
(C) Acetic Salicylic acid  
(D) Ethyl alcohol  

 61. fuEu esa ihM+kgkjh gS%  
(A) Qhuksy  
(B) lksfM;e csUtks,MV  
(C) ,slhfVd lSfyflfyd vEy  
(D) ,fFky ,Ydksgy  

62. Paracetamol is used in:  
(A)   Fever  
(B) Infection  
(C) Food colour  
(D) None of the above  

 62. isjklhVkeksy ç;qDr gksrk gS%  
(A) Toj  
(B) lØae.k  
(C) [kk| jax  
(D) dksbZ Hkh ugha 
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63. It was discovered as local 

anesthetic in 1884: 

(A)   Ether  

(B) Chloroform  

(C) Quinine  

(D) Cocaine  

 63. 1884 esa ,susLFklh;k ds :Ik es [kkstk x;k 

Fkk%  

(A) bZFkj  

(B) DyksjksQkeZ 

(C) D;wuhu  

(D) dksdhu  

64. Aspirin is also known as: 

(A)   Acetylsalicylic acid  

(B) Nitroglycerin  

(C) Ether  

(D) None of the above  

 64. ,fLifju dks tkurs gSa%  

(A) ,slhfVy lSfyflfyd vEy  

(B) ukbVªksXyhljhu  

(C) bZFkj 

(D) dksbZ Hkh ugha 

65. Purine base is present in RNA is:  

(A)   Guanine  

(B) Cytosine  

(C) Thymine  

(D) Uracil  

 65. RNA esa mifLFkr I;wjhu {kkj gS%  

(A) Xokuhu  

(B) lkbVkslhu  

(C) Fkkbehu  

(D) ;wjkfly  

66. The double helical structure of 

DNA is stabilized by:  

(A)   Hydrogen bond  

(B) Peptide bond  

(C) Sulphur-Sulphur bond  

(D) None of the above  

 66. DNA dh Mcy gsfydy ljapuk eas ik;s 

tkrs gS%  

(A) gkbMªkstu cU/k  

(B) isIVkbM cU/k  

(C) lYQj&lYQj cU/k  

(D) dksbZ Hkh ugh 

67. Which is not present in RNA? 

(A)   Uracil  

(B) Thymine  

(C) Ribose  

(D) Phosphate  

 67. fuEu eas ls dkSu RNA esa mifLFkr ugha gS\ 

(A) ;wjkfly  

(B) Fkkbehu  

(C) jkbcksl  

(D) QkWLQsV  
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68. The bases found in nucleic acids 

are:  

(A)   Adenine  

(B) Cytosine  

(C) Uracil  

(D) All of the above  

 68. U;wDyhbd vEy esa mifLFkr {kkj gS%  

(A) ,Muhu  

(B) lkbVkslhu  

(C) ;wjkfly  

(D) lHkh  

69. In nucleoside:  

(A)   Sugar + Base + ܪଷܲ ସܱ 

(B) Sugar + Base  

(C) Sugar + ܪଷܲ ସܱ 

(D) Sugar + Acid  

 69. U;wfDy;kslkbM esa gksrs gaS%  

(A) ‘kdZjk $ {kkj$ܪଷܲ ସܱ 

(B) ‘kdZjk $ {kkj  

(C) ‘kdZjk $ ܪଷܲ ସܱ 

(D) ‘kdZjk $ vEy  

70. Nucleic acids are polymer of:  

(A)   Amino acids  

(B) Nucleotides  

(C) Peptide  

(D) Glucose molecule  

 70. U;wDyhbd vEy cgqyd gS%  

(A) ,ehuks vEy  

(B) U;wfDy;ksVkbM  

(C) isiVkbM 

(D) ‘kdZjkvksa  

  :Helix is present in-ߙ .71

(A)   RNA  

(B) DNA  

(C) Lipid  

(D) Carbohydrates  

  %gsfyDl ik;k tkrk gS-ߙ .71 

(A)   RNA  
(B) DNA  
(C) fyfiM  

(D) dkckZsgkbMªsV  

72. Which of the following is not a 

type of RNA:  

(A)   t-RNA  

(B) m- RNA 

(C) r-RNA 

(D) None of the above  

 72. fuEu esa ls dkSu RNA ugha gS%  

(A)   t-RNA  

(B) m- RNA 

(C) r-RNA 

(D) dksbZ Hkh ugh 



Series-C B.Sc.– B020201T/ K-252 Page - 17 

73. The double helical structure of 

DNA was given by:  

(A)   Watson and Crick  

(B) M. Wilkins  

(C) Franklin  

(D) None of the above  

 73. DNAdh Mcy gsfydy lajpuk nh gS%  

(A) okV~lu rFkk fØd 

(B) ,eŒ foyfdUl  

(C) ÝsUdfyu  

(D) dksbZ Hkh ugh  

74. DNA is:  

(A)   Ribonucleic acid  

(B) Deoxyribonucleic acid  

(C) Phosphoric acid  

(D) None  

 74. DNA gS% 

(A) jkbcksU;wDyhbd vEy  

(B) Mh vkWDlhjkbcksU;wDyhbd vEy  

(C) QkWLQksfjd vEYk  

(D) dksbZ Hkh ugh 

75. The nature of monosaccharide is:  

(A)   Acidic  

(B) Basic  

(C) Neutral  

(D) None of above  

 75. eksukslSdsjkbM dh izÑfr gS%  

(A) vEyh;  

(B) {kkjh;  

(C) mnklhu  

(D) buesa ls dksbZ ugh 

76. The Taste of monosaccharide is:  

(A)   Sour  

(B) Sweet  

(C) Salty  

(D) None of above  

 76. eksukslSdjkbM dk Lokn gksrk gS%  

(A) [kêk  

(B) ehBk  

(C) uedhu  

(D) dksbZ ugha 

77. Which one of the following is the 
sweetest sugar:  
(A)   Sucrose  
(B) Maltose  
(C) Galactose  
(D) Fructose  

 77. fuEu esa ls ehBh ‘kdZjk gS%  

(A) lqØkst  

(B) ekyVkst  

(C) xsyDVkst  

(D) ÝDVkst  
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78. Formula of carbohydrates are:  
(A)   ܥ௫(ܪଶܱ)௬ 
(B) ܥ௬(ܪଶܱ)௭ 
(C) ܥ௭(ܪଶܱ)௬ 
(D) All of above  

 78. dkckZsgkbMªsMl dk lw= gS%  

(A) ܥ௫(ܪଶܱ)௬ 
(B) ܥ௬(ܪଶܱ)௭ 
(C) ܥ௭(ܪଶܱ)௬ 

(D) lHkh  

79. Glucose contents−ܱܪgroup is: 

(A)   One  

(B) Three  

(C) Five  

(D) Seven  

 79. Xywdkst esa −ܱܪ lewg mifLFkr gS%  

(A) ,d  

(B) rhu 

(C) ik¡p  

(D) lkr  

80. Glucose reduce with Tollen’s 

regent to form:  

(A)   Silver mirror 

(B) Red ppt. 

(C) White ppt. 

(D) None of the above  

 80. Xywdkst VkWysu vfHkdeZd ls vipf;r gksdj 

nsrk gS%  

(A) flYoj niZ.k  

(B) yky vo{ksi  

(C) lQsn vo{ksi  

(D) dksbZ Hkh ugh 

81. Globular protein is:  

(A)   Keratin  

(B) Insulin  

(C) Fibrin  

(D) Myosin  

 81. xksykdkj çksVhu gS%  

(A) dsjsfVu  

(B) bUlqfyu 

(C) js’ksnkj  

(D) ek;ksflu  

82. Protein can be used: 

(A)   As food  

(B) As enzyme  

(C) In textile  

(D) All of the above  

 82. çksVhu dk mi;ksx fd;k tk ldrk gS%  

(A) Hkkstu ds :Ik eas  

(B) ,Utkbe ds :Ik esa  

(C) diM+ks esa  

(D) mi;ZqDr lHkh ds :Ik eas 
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83. Which amino acid is present in 

wheat? 

(A)   Alanine  

(B) Glycine  

(C) Lysine  

(D) Serine  

 83. xsgw¡ esa dkSulk ,ehuksa vEy mifLFkr gksrk gS\  

(A) ,ykuhu   

(B) Xykblhu  

(C) ykblhu  

(D) lhfju  

84. The protein which transports 

oxygen in the blood steam is:  

(A)   Haemoglobin  

(B) Insulin  

(C) Collagen  

(D) Albumin  

 84. jDr esa vkWDlhtu lapkfjr djus okyh 

çksVhu gS%  

(A) gheksXyksfcu  

(B) bUlqfyu  

(C) dksysTku  

(D) ,sYcqfeu  

85. Isoelectric point is the ݌ுat which: 

(A)   An amino acid becomes 

acidic  

(B) An amino acid becomes basic  

(C) Zwitterion has positive 

charge  

(D) Zwitterion has no charge  

 85. lefoHko fcUnq og ݌ு gS ftl ij%  

(A) ,ehuks vEy vEyh; gks tkrk gS 

(B) ,ehuks vEy {kkjh; gks tkrk gS 

(C) mHk;fu”B vk;u /ku vkosf’kr gksrk gS  

(D) mHk;fu”B vk;u ij dksbZ vkos’k ugha 

gksrk gS  

86. Which of the following is a 

peptide linkage?  

(A)   −ܱܥ 

(B) −ܱܥ ܪܰ− − 

(C) −݈ܥܱܥ 

(D) −ܴܱܱܥ 

 86. fuEu eas ls dkSu lk isIVkbM vkcU/k gS\ 

(A) −ܱܥ 

(B) −ܱܥ ܪܰ− − 

(C) −݈ܥܱܥ 

(D) −ܴܱܱܥ 
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87. The number of amino acids which 

forms protein in nature are:  

(A)   6  

(B) 10 

(C) 15 

(D) 20 

 87. çÑfr esa çksVhu cukus okys ,ehuksa vEyksa dh 

la[;k gS%  

(A) 6 

(B) 10 

(C) 15 

(D) 20 

88. Amino acids are building blocks 

of:  

(A)   Fats   

(B) Starch 

(C) Proteins  

(D) Vitamins  

 88. ,ehuks vEy feydj fuEu dks cukrs gSa%  

(A) olk  

(B) LVkpZ  

(C) çksVhu  

(D) foVkfeu  

89. Amino acids are produced by the 

hydrolysis of:  

(A)   Nucleic acid  

(B) Carbohydrates  

(C) Fats  

(D) Proteins  

 89. ,ehuks vEy fdlds ty vi?kVu ls çkIr 

gksrk gS%  

(A) U;wDYkhbd vEy  

(B) dkckZsgkbMªsM  

(C) olk  

(D) çksVhu  

90. An amino acid contains:  

(A)   −ܰܪଶ group  

(B) −ܰܪଶ group and –  ܪܱܱܥ

group  

(C) −ܪܱܱܥ group  

(D) Any other group  

 90. ,ehuksa vEy esa fuEu lewg gksrk gS%  

(A) −ܰܪଶ lewg  

(B) −ܰܪଶ lewg o –   lewg ܪܱܱܥ

(C) –   lewg ܪܱܱܥ

(D) dksbZ vU; lewg  
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91. Which is not a sugar: 

(A)   Maltose  

(B) Starch  

(C) Fructose  

(D) Glucose  

 

 
 
 
 
 
 
 

91. ‘kdZjk ugha gS%  

(A) ekyVkst  

(B) LVkpZ  

(C) ÝDVkst  

(D) Xywdkst  

92. Glucose is a: 

(A)   Monosaccharide  

(B) Disaccharide  

(C) Trisaccharide  

(D) Tetrasaccharide  

 92. Xywdkst gS%  

(A) eksukslSdsjkbM  

(B) MkblSdsjkbM  

(C) VªkblSdsjkbM  

(D) VsVªklSdsjkbM  

93. Which one is known as malt sugar: 

(A)   Glucose  

(B) Fructose  

(C) Maltose  

(D) Cellulose  

 93. ekYV ‘kdZjk ds uke ls tkuk tkrk gS%  

(A) Xywdkst  

(B) ÝDVkst  

(C) ekyVkst  

(D) lsyqykst  

94. Which one is present in milk: 

(A)   Lactose  

(B) Starch  

(C) Cellulose  

(D) Sucrose  

 94. nw/k esa mifLFkr gS%  

(A) ySDVkst  

(B) LVkpZ 

(C) lsYkqykst 

(D) lqØkst  

95. Which is disaccharide: 

(A)   Glucose  

(B) Lactose  

(C) Fructose  

(D) Starch  

 95. fuEu esa MkblSdsjkbM gS% 

(A) Xywdkst  

(B) ySDVkst  

(C) ÝDVkst  

(D) LVkpZ  
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96. Formula of Roffinose is:  

(A)   C଺HଵଶO଺ 

(B) Cଵ଼HଷଶOଵ଺ 

(C) (C଺Hଵ଴Oହ)୬ 

(D) All of the above  

 96. jSfQukst dk lw= gS%  

(A) C଺HଵଶO଺ 

(B) Cଵ଼HଷଶOଵ଺ 

(C) (C଺Hଵ଴Oହ)୬ 

(D) mi;qZDr lHkh  

97. The colour of cellulose is:  
(A)   Green  
(B) Pink  
(C) White  
(D) Colourless  

 97. lsyqykst dk jax gksrk gS%  

(A) gjk  

(B) xqykch  

(C) lQsn  

(D) jaxghu  

98. Formula of cellulose is:  

(A)   C଺Hଵ଴Oସ 

(B) CସHଵ଴Oହ 

(C) (C଺Hଵ଴Oହ)୬ 

(D) C଻HଽN 

 98. lsyqykst dk lw= gS%  

(A) C଺Hଵ଴Oସ 

(B) CସHଵ଴Oହ 

(C) (C଺Hଵ଴Oହ)୬ 

(D) C଻HଽN 

99. Which does not reduce Fehling 

solution: 

(A)   Maltose  

(B) Sucrose  

(C) Lactose  

(D) Glucose  

 99. Qsgfyax foy;u ls vipf;r ugha gksrk gS%  

(A) ekyVkst  

(B) lqØkst  

(C) ySDVkst  

(D) Xywdkst  

100. The ratio of C and H in 

carbohydrates are:  

(A) 1 : 2 

(B) 2 : 1 

(C) 3 : 2 

(D) 4 : 2 

 100. dkckZsgkbMªsV~l esa C o H dk vuqikr gksrk 

gS% 

(A) 1 : 2 

(B) 2 : 1 

(C) 3 : 2 

(D) 4 : 2 

****** 
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Rough Work / jQ dk;Z 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the answer will be marked as wrong.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination, please hand over the O.M.R. SHEET to 

the Examiner before leaving the examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one. 

 


